UNIVERSITY OF THE WEST INDIES

DEPARTMENT OF MANAGEMENT STUDIES

MS15D Tutorial 5

Suggested Solutions

1. Exercise 9.2 – page 393
	Ex. 9–2
	a.
	Capital expenditure

	
	b.
	Revenue expenditure

	
	c.
	Revenue expenditure

	
	d.
	Capital expenditure

	
	e.
	Revenue expenditure (too small in amount to capitalize regardless of length of useful life)

	
	f.
	Capital expenditure


2. Exercise 9.4 – page 393 (Modified - For part a.2 use a Reducing Balance rate of 34% and use the Sum of the Years’ Digits (SYD) method for part a.3)
	a. (1) Straight-Line Schedule

	
	
	
Year
	
Computation
	
	Depreciation
Expense
	
	Accumulated
Depreciation
	
	Book
Value

	
	
	1
	$35,000
( 1(5
	
	
  $7,000
	
	
$  7,000
	
	
$33,000

	
	
	2
	35,000
( 1(5
	
	

7,000
	
	

14,000
	
	

26,000

	
	
	3
	35,000
( 1(5
	
	

7,000
	
	

21,000
	
	

19,000

	
	
	4
	35,000
( 1(5
	
	

7,000
	
	

28,000
	
	

12,000

	
	
	5
	35,000
( 1(5
	
	

7,000
	
	

35,000
	
	

5,000


   (2) Reducing Balance



[image: image1.emf]Year Computation

Depreciation 

Expense

Accumulated 

Depreciation Book Value

1 40,000.00              13,600.00              13,600.00              26,400.00             

2 26,400.00              8,976.00                22,576.00              17,424.00             

3 17,424.00              5,924.16                28,500.16              11,499.84             

4 11,499.84              3,909.95                32,410.11              7,589.89               

5 7,589.89                2,580.56                34,990.67              5,009.33               

34,990.67             


   (3) Sum of the Year’s Digits

[image: image2.emf]Year Computation

Depreciation 

Expense

Accumulated 

Depreciation

Book 

Value

1 40,000.00          11,666.67        11,666.67            28,333.33  

2 28,333.33          9,333.33         21,000.00            19,000.00  

3 19,000.00          7,000.00         28,000.00            12,000.00  

4 12,000.00          4,666.67         32,666.67            7,333.33    

5 7,333.33            2,333.33         35,000.00            5,000.00    

35,000.00       


	
	b.
	Both the Reducing Balancing & the SYD methods result in a higher depreciation expense than the straight-line method in the first two years of the asset’s life. This pattern reverses in years 3 through 5.  However after 5 years, all three methods result in the same accumulated depreciation.


3. Exercise 9.7 – page 394

	a.
	$53,000 ($65,000 less $12,000 trade-in allowance)

	b.
	Trade-in allowance

	     $12,000

	
	Less: Book value ($52,000 ( $34,000)

	
18,000

	
	Loss on trade-in

	    ($  6,000)

	c.
	The $6,000 loss on trade-in will be reported in Bedford’s income statement as a non-operating expense i.e. as a loss on disposal.


4. Exercise 9.9 – page 394
	a.
	If the cost of an asset cannot be recovered through future use or sale, the asset should be written-down to its net realizable value. Failure to do so may cause investors and creditors to draw erroneous conclusions concerning the company’s profitability and future cash flow potential.

	b.
	The write-down of impaired plant assets reduces income and the asset’s carrying value, but has no immediate impact on the company’s cash flows. Thus, such charges against income are considered non-cash transactions.


5. Exercise 9.11 – page 395
	a.
	Inventory

	400,000
	

	
	
	Accumulated Depletion: Northern Tier Mine

	
	400,000

	
	To record depletion on the Northern Tier Mine: 50,000 tons mined ( $8 per ton [($21,000,000 ( $1,000,000) ( 2,500,000 tons = $8 per ton].
	
	

	b.
	Property, plant, & equipment:

	
	
	Mining property: Northern Tier Mine

	
$
21,000,000
	

	
	
	Less: Accumulated depletion

	

400,000
	$
20,600,000

	c.
	No; the $400,000 of depletion of the mine should not all be deducted from revenue during the first year of operations. Since only 40,000 of the 50,000 tons of ore mined were sold, only 80% of the depletion cost ($320,000) should be deducted from revenue as part of the cost of goods sold. The remaining 20% of this amount ($80,000) relates to the 10,000 tons of ore still on hand and remains in the inventory account.

	d.
	The journal entry in part a increases the current ratio, because it reclassifies an amount of plant assets as inventory, which is a current asset. Thus, current assets are increased. Extracting ore from the ground does make the company more liquid. Mined ore is a more liquid asset than ore that is still in the ground.


6. Exercise 9.13 – page 395
	Ex. 9–13
	a.
	$13,000 ( $4,000
	
	$9,000
	 = $0.18 per mile

	
	
	50,000 miles
	=
	50,000 miles
	

	
	
	
	
	
	


	
	b.
	1,650,000 miles ( $0.18 per mile = $297,000

	
	c.
	Yes. The units-of-output method recognizes more depreciation in periods in which the cars are driven more—which means that the cars are generating more revenue and also deteriorating more. The straight-line method would recognize the same amount of depreciation expense regardless of how much the automobiles were used (driven).


7. Problem 9.1 – page 395

	a.
	The cost of plant and equipment includes all expenditures that are reasonable and necessary in acquiring the asset and placing it in a position and condition for use in the operation of the business.

	b.
	(1)
	The purchase price of $250,000 is part of the cost of the equipment. The list price ($275,000) is not relevant, as this is not the actual price paid by Prescott. The $4,500 in interest charges are a charge for borrowing money, not part of the cost of the equipment. These interest charges should be recognized as interest expense over the 90-day life of the note payable.

	
	(2)
	Sales/GCT tax is not to be included in the cost of the equipment.

	
	(3)
	Freight charges are part of the cost of getting the equipment to a usable location and, therefore, are part of the cost of the equipment.

	
	(4)
	To be used in College operations, the equipment must first be installed. Thus, normal installation charges should be included as part of the cost of the equipment.  

	
	(5)
	The accidental damage to one of the terminals was not a “reasonable and necessary” part of the installation process and, therefore, should not be included in the cost of the equipment. The repairs do not make the equipment any more useful than it was before the damage was done. Therefore, the $500 cost of repairing the damage should be offset against revenue of the current period. (Technically, this amount should be classified as a loss in the current period. For practical purposes, however, it probably would be charged to an expense account such as Repairs and Maintenance.)

	
	(6)
	Advertising is viewed by accountants as a revenue expenditure—that is, charged to expense when the advertising occurs. There is not sufficient objective evidence of future benefit for accountants to regard advertising expenditures as creating an asset.
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 c.

 Expenditures that should be debited to the Computing

 

 Equipment account:

Purchase price

$

2

5

0

0

0

0

Freight charges

1

0

0

0

Installation charges 

 

5

0

0

0

Total cost of the equipment

$

2

5

6

0

0

0

 

 d.

General Journal

 

Dec

31

 Depreciation Expense: Computing Equipment

5

1

2

0

0

 

Accumulated Depreciation: Computing Equipment

5

1

2

0

0

 To record depreciation of computing equipment in

 the year of acquisition ($256,000 cost 

¸

 5 years) .

Assuming that it was bought at the beginning of the year


8. Problem 9.4 – page 397


[image: image4.wmf] a.

General Journal

 

 

Feb

10

 Loss on Disposal of Plant Assets

 

2

0

0

 Accumulated Depreciation: Office Equipment

2

5

8

0

0

Office Equipment

2

6

0

0

0

 Scrapped office equipment; received no salvage value.

Apr

1

 Cash

1

0

0

0

0

0

 Notes Receivable

8

0

0

0

0

0

 Accumulated Depreciation: Building

2

5

0

0

0

0

Land

 

5

0

0

0

0

Building

5

5

0

0

0

0

Gain on Sale of Plant Assets

5

5

0

0

0

0

 Sold land and building for a $100,000 cash down payment

 and a 5-year, 9% note for the balance.

Aug

15

 Vehicles (new truck)

3

9

0

0

0

 Accumulated Depreciation: Vehicles (old truck)

1

8

0

0

0

Vehicles (old truck)

2

6

0

0

0

Gain on Disposal of Plant Assets

2

0

0

0

Cash

2

9

0

0

0

 To record trade-in of old truck on new; trade-in allowance

 exceeded book value by $2,000.

Oct

1

 Office Equipment (new computer)

 

8

0

0

0

 Loss on Trade-in of Plant Assets

 

3

5

0

0

 Accumulated Depreciation: Office Equip. (old computer)

 

1

1

0

0

0

Office Equipment (old computer)

 

 

 

 

 

 

1

5

0

0

0

Cash

 

2

5

0

0

Notes Payable

 

5

0

0

0

 Acquired new computer system by trading in old

computer, paying part cash, and issuing a 1-year,

8% note payable. Recognized loss equal to book value of

 old computer ($4,000) minus trade-in allowance ($500).


	b.
	Gains and losses on asset disposals do not affect gross profit because they are not part of the cost of goods sold. Such gains and losses do, however, affect net income reported in a firm’s income statement.


9. See Notes

10. Exercise 10.4 – page 441

	Current liabilities: 
	

	
	Unearned revenue

	$300,000

	
	Lease payment obligation (current portion)

	10,000

	
	Accrued bond interest payable

	    36,000

	Total current liabilities

	$346,000

	Long-term liabilities:
	

	
	Lease payment obligation ($80,000 ( $10,000)

	$     70,000

	
	Bonds payable

	900,000

	
	Notes payable to be refinanced on a long-term basis

	       75,000

	Total long-term liabilities

	$1,045,000

	· The interest expense that will arise from existing obligations is not yet a liability.

· The lawsuit pending against the company is a contingent liability. It should be disclosed, but no liability is recorded as it is a possible obligation.
· The 3-year salary commitment relates to future transactions and, therefore, is not yet a liability of the company.
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		Year		Computation		Depreciation Expense		Accumulated Depreciation		Book Value

		1		40,000.00		11,666.67		11,666.67		28,333.33

		2		28,333.33		9,333.33		21,000.00		19,000.00

		3		19,000.00		7,000.00		28,000.00		12,000.00

		4		12,000.00		4,666.67		32,666.67		7,333.33

		5		7,333.33		2,333.33		35,000.00		5,000.00

						35,000.00
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				c.						Expenditures that should be debited to the Computing

										Equipment account:

												Purchase price																										$		2		5		0		0		0		0

												Freight charges																																1		0		0		0

												Installation charges																																5		0		0		0

														Total cost of the equipment																								$		2		5		6		0		0		0

				d.

				General Journal

				Dec		31				Depreciation Expense: Computing Equipment														5		1		2		0		0

																Accumulated Depreciation: Computing Equipment																										5		1		2		0		0

										To record depreciation of computing equipment in

										the year of acquisition ($256,000 cost ¸ 5 years) .

						Assuming that it was bought at the beginning of the year
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		Year		Computation		Depreciation Expense		Accumulated Depreciation		Book Value

		1		40,000.00		13,600.00		13,600.00		26,400.00

		2		26,400.00		8,976.00		22,576.00		17,424.00

		3		17,424.00		5,924.16		28,500.16		11,499.84

		4		11,499.84		3,909.95		32,410.11		7,589.89

		5		7,589.89		2,580.56		34,990.67		5,009.33

						34,990.67
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